

Fox River Bluffs Planting Project Project Operator Attestation of Planting

I, the undersigned Project Operator for the Planting Project named <u>Fox River Bluffs Planting Project</u> located at <u>Fox River Bluffs Forest Preserve</u>, <u>Yorkville</u>, <u>Illinois 60560</u> and submitted to City Forest Credits by application dated November 2, 2021, attest to the following in order to confirm the planting of trees under this Project:

- Trees planted were not required by any law or ordinance to be planted;
- Trees were planted under this project on the following date (s): April 10 through 22, 2020
- The organizations or groups that participated in the planting event(s) include: Kendall County Forest Preserve District, various invited community volunteers
- Planting events are shown in photos attached
- The number of trees planted by species are, to a reasonable certainty:

Species	Amount (Over 40 acres)	
Bur Oak	5,417	
Red Oak	5,417	
Shagbark Hickory	4,167	
Black Oak	2,500	
White Oak	1,667	
Swamp White Oak	1,667	
Pin Oak	1,250	
Black Walnut	1,000	
American Plum	833	
	23,917	

These planting numbers are confirmed by one or more of the following supporting and attached documents:

- 1. Invoices for trees planted, or
- 2. Invoices or a statement from the party who funded the tree purchase or supplied the trees attesting to the number of trees purchased, or
- 3. Any reporting to the owner or public body regarding the planting, invoices, costs, or other data re the planting, or
- 4. Any other reliable estimate of trees planted that is approved by the Registry

Signed on <u>December 7</u> in 2021, by <u>Judy Gilmour, President</u> for <u>Kendall County Forest Preserve District, Kendall County, Illinois.</u>
Quely Selmour
Signature /
(030.553.4025
Phone
Email) Janour (O. Mendall. il. us

JB Pritzker, Generoos

College Callahan, Director

INVOICE Inv. #00255 February 27, 2020

SOLD TO: Kendall County Forest Preserve District

110 W Madison St Yorkville, IL 60560

SPECIES	# WANTED	PRICE/EACH	TOTAL
Shagbark Hickory	5,000	\$0.50/ea	\$ 2,500.00
Black Walnut	1,200	\$0.50/ea	\$ 600.00
Bur Oak	6,500	\$0.50/ea	\$ 3,250.00
Red Oak	6,500	\$0.50/ea	\$ 3,250.00
Hazelnut	2,000	\$0.35/ea	\$ 700.00
Elderberry	300	\$0.35/ea	\$ 105.00
Pin Oak	1,500	\$0.50/ea	\$ 750.00
Swamp White Dak	2,000	\$0.50/ea	\$ 1,000.00
White Oak	2,000	\$0.50/ea	\$ 1,000.00
Black Oak	3,000	\$0.50/ea	\$ 1,500.00
American Plum	1,000	\$0.35/ea	\$ 350.00
TOTAL	31,000		\$ 15,005,00

Please make checks payable to: Illinois Department of Natural Resources Please remit to: Mason State Nursery

FEIN #37-1349602(6156701) 17855 N. County Rd. 2400E, Topeka, IL 61567 Thank you for your order!

Project Photos:





